/q\éa?crmaﬁzsﬁrmajﬁqﬁm (et 5 oY), Tt 2024

ASH . )
= A

m|tF[m
TR . -1 b s AP
5 : 11:00 9 12:30 HIETH |§'*é| Wi
TR T 2 150 ™ WTST F T 75:32

T T A | Ugel HuAT At {3 e et i sagEe ug

(1) 38 99993 & &t 91 3| f5e| @ 9 - 1 ° gy o faw @ q@eféa 19 25 i 9w 1§ 7o
forwer & Heifera 26 @ 75 999 @ ¢ E| @l 75 9 BA BT A B

(2) IcAH I 2 37 & AT B

(3) TeI9A A B o T A 90 fire w1 wu T S|

(4) IWEH  foTC Toas TR & ST | Teh T AT o G- R faehed & T shagar deed
faw mu &) il & @t S - forerew % ddem 1 A9 oy T SereongER W
32 Y9 3. 6 1 TEl I fIehed . 2 B, a1 AT U AR IW W)
T F. 6 OOOD

(5) e T SerEr & AR sifehd foh e IR wierd TEf fehu SR 38 vk sifeRd fou e g
F IR H I I g smn D OO

(6) TH T o TIC T ¥ Afeeh <reiga § I 3Afhd fohdl T, TIwgTiehd fohdl 1T 3T T HodTeh a1
fema S|

(7) U o 3fehd fopu 7Y IR S saed &l ST Hehel |

(8) forepew & IR 3iferd T & fIU Shaed et R A TT & iU o1 & 3EadT hi| Uit ° 37
I TRt T fohr S|

(9) IYUA % T g8 & A= 3R 31w g8 W %= %MW (Rough work) & T @reft 518 7, 9@ s
%M (Rough work) |

(10) uwfier st srafer wifed g o ST Afg foRet T9 1 I ATeht TEl Ul &1 1 AT o U9 & B
3d H THY F=H W IE T TAT o T g T i

(11) ot g & e /mrereht aftarferd g9 W wideres an qdien ohg d=mets o foam fomst a1 &)

(12) w97 ® Ffe /mrerdt /gaes Haig 4 fae faemer steran stftvreeni g wvg freronfersert = freoreiferenrd
=& g foifed w9 # 7 9o etd forne & diE 8 AHAET 9gid 8 8 9el|

(13) Ffe/merdt/zaes ey § faer st ufgd @ 99 1 erafer wen aitvg & o wom @ afm
(ereyrft) I Tt % UMt B9 | A 10 (2w) T 7 @it

(14) THU1 N AT 3T HROT H TH T GRATEd g W g afifa & FHorRmger 3 sriard 6 sm|

(15) oot A1eam < T STt W # o sev fom men 31 g areaw < ey gt W e st v g
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fawm - 1
et

Tea . 01 & 03 & foru g -
frafafga o gl 6 gaafa & MY W Ue 99 % Rad M % fau

3fa W g
01. *ff TH=CS] ARG & TC ceveenennnnnns irA
(1) =" (2) i
(3) ST (4) T
02. 3T w@ra i @eft # ferfet 9 Hh IcEd TART T
(1) =g (2) T
(3) Tt 4 T
03. GARH H TR .ooerreennnnnn % feareft gu-gm ¥ wAE S R
(1) drgan (2) agIRE
(3) TG (4) el =™
04. o fou 7U y¥iE § @ o9 SIEl dEEAU)
(1) fe - Bug 2) TR - SEREE
(3) ISR - ITFTRA (4) T2 - U
05. = feu mu mwEel see f Tad TS ggEniEU
(1) 99 = dfeA (2) wieft = feu
(3) WAl = HHEd (4) = = A
TF 1 g AW
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06. AW IHfd o Ko TAM H SE-H1 &R WA W T2 AR @S T A0
ee I
R ar of ar
q
R
T
1) * @) =
3) 4 H
07. ‘Ift w1 TH e wE B A WA wogEu A ... 2l
(1) f= (2) foaett
(3) o (4)
08. T TIm &1 I Uugeefe Weg M|
JG g H TR AW FA B e,
(1) e (2) I
(3) & (4) e
09. = U TN EHEEe Weg UEAMHR I WA FHU|
AT e o @ Rl
(1) foa 2) FrX
(3) <eal (4) =T
TF 1 g AW
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10. = fiu 7w wedi % AuEE % HER fUER W usd wHie w1 AE T
R
(1) o (2) T
(3) SR (4) 3UR
11.  Jm-Hi3T &1 8 A8 WAl ..vvvennnnn. graT gl
(1) e (2) =T
(3) s (4) @I
12. = fou U oweg # @ SRS weg @ UgEHl|
(1) (2) =g
(3) A (4) @
13. = @ T ac fREeR 27
& - &S
(1) =gl 2) "
3) sl (4) fefestt
TF & gd T
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T . 14 | 16 & ToU gt -

frfafea ofi=se 1 =HYds TgaRt W I8 T Y %k IW w1 &l 9@ gHET)

e o1 A4 haw fohae wem & BT Bl W Wem % @ A Sfed
HI IRl s 21 I TR Sfed & fou sreud otevas 31 fSEueR meft iy
T AT Hh AT 3T A U HiGH a1 Al 7, H THR Fem oft sEdy wewan
HA Bl 3O @W BN Sied HeX R HEHM At 7| fam ww e\ F e
Y gfc AR 3T I8 TR T U B, d fem WH HEr d 9wR 'l Wem W%
AW BH AN H RI&T UH A 2l BH GEU h HIY hHT SRR H @R,
gl I Wl HHl wE =R, TE HE & F q@W & AGH B Bl S ASH
fqaneff Sflem & ¥ ad de@ 2, I TS B ST ATIGE Al Bl gHAT
9fgsT deel IOl WEIEN A fohdtel whig @ A mefist S foega @memw
foeneff 9, fhg 3 =fm ot ifd & & o wa foefi @ 3= 9 = foaw =+
MYR W d fovd d THE &H|

14. e Rl HH IATANA SHET 27

(1) & Q) =fa
(3) ifa (4) faram
15. frareht $R +9 & 27
(1) =ries (2) HEYEY
(3) IgEN (4) Toremeff
16. Toem wcd e SR e BIAT 7
(1) =8 H&HR Yq1 =l 2) =8 @ @
(3) =¥ TR T UYar &/ (4) =@ fomm ¥ 7 |
TF 1 g AW
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9T . 17 3R 18 & forw g=er -

fo @ m wo@ F e @ TUoTE % sw fafew
W TEW, W S, W oW HEH!
e S H AEl H AW I fegEE!
it ool &9 gEh, W d® TE we,
HTE % gdel, AN §g ekl g few@|
YRa # % fou i se-ag aforeE!
T BN e A wW fegEa|
IR-gfequr, Wa-ufeam = fom g9,
frg @@ ot welt Brft 9t uEEr
oA T8 <@ hl AR 7 WY N AEH!
W FEW W N W 9 HEH!

17. BH Y4 HI @ fdu &1 S ?

(1) 9 (2) wfgH

(3) wetEr (4) wrgE
18. it fauwifaai < ugied +al et =nfgu?

(1) s (2) dfvem

3) T (4) = fem

19. TfaReq am & yged weIm gemeRt fdfe)
qu Wl H A w0

(1) (2) U
3) ™ (4) wdian
TF & gd T
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20.

21.

22.

23.

24.

25.

ofFq’ weg w1 wEAEA Weg g

(1) ufeaa (2) ufea

(3) ufeqat (4) *3 Ufed

‘U ougx o o9 @ 9§ hH-®1 i Sl T 8|
(1) SdHEHHA (2) YR

(3) wlosTs (4) T ¥ His TE
f few MU Gl @ verd ferm fugdl @l wgEme fofEu)
(1) 2 =gym! (2) ARl FAT ATMET?
(3) e "I S| (4) HHF I |
= fou U yem w1 U veg yEEEI

CIG|

(1) =afFd 2) I

3) & 4) =

o for U ogEER % A wd W wE wiE g

ST shl @A et
(1) HeT HE 2) TEUE W BHEEH HET
(3) W GieHl (4) WTA-STA ST

I 99 UgEHR herad qu |

¢
............... 31&'{ ilEl El{lglt

(1) e (2) e
(3) 1At (4) H%e
TF & gd T
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SECTION - II

MATHEMATICS

26. Which of the following statements is false?
(1) Cuboid is three dimensional.
(2) Cuboid has 12 edges.
(3) All surfaces of a cuboid are square in shape.
(4) Length, breadth and height of a cuboid can be measured.

27. How will you write twenty two thousand two hundred and fifty in international

number system?
(1) 22150 (2) 3RO
(3) R340 (4) 22250

28.  What is the perimeter of the adjacent figure?

2 cm
£
5]
g 2cm a
(5}
° =
>
(@]
2 cm
5
[g\}
4 cm
(1) 16 cm (2) 36 cm
3) 18 cm (4) 30 cm
SPACE FOR ROUGH WORK
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fawmr - 11
Irfore
26. T # @ wH-w weH T R

(1) =™ BfdE g 2

(2) T W 12 SR B ORI

(3) w9 % Tt Y53 ikl B B

(4) oW H e, IS qg I9E A Sl F|

27. ‘Ha1 99 R I8 G AW e fagd § ke for@m e
(1) 22150 2) 23240
(3) 23340 @) 22250

28. o= erfa < uftffa feradt @eft 27
2 |t

2 gt

:E 2 ot
E 2 9t
4 Oy
(1) 16 & ) 36 o
(3) 18 @t (4) 30 @
TF & gd T
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29.

30.

31.

32.

Dilip purchased a motorcycle for Rs. 35900. He spent Rs. 3780 on its repairs.
After some days, he sold the motorcycle for Rs. 40750. How much profit did
he make in this transaction?

(1) Rs. 1070 (2) Rs. 4850
(3) Rs. 36970 (4) Rs. 32120

At a ration shop, 85 sacks of wheat, 50 sacks of rice and 15 sacks of tur dal
was available for sale. If every sack contained 40 kg of grains, How much
grains in kilograms, were available for sale?

(1) 150 kg (2) 600 kg
(3) 6000 kg (4) 4000 kg

Which amongst > , < or = will be appropriate to fill in the boxes between,
the below given fractions.

3 6 7
R

1 =,> 2) <, <
3) >.< @ =.<

Pick out the wrong statement from the given statements.

(1) The product of any number and zero is zero.

(2) Multiplication of odd number with other odd number results in even number.
(3) Multiplicant x Multiplier = 0. Then either Multiplicant or Multiplier is zero.

(4) When same digit appears at the one’s place in two numbers then 8 will

not appear in one’s place of their product.

SPACE FOR ROUGH WORK
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29.

30.

31.

32.

feefi 3 35,900 ®w=i Fi TH Hil TEfhad @iE| I A & U 3780
TR wd R pw T 9 foefiv 3 o Wi wEfea 40750 9= O o=
fe, @ 3@ agerR # W fham @w gem?

(1) 1070 €= (2) 4850 T
(3) 36970 TI (4) 32120 ®9

fpel T @ SN H geE H 85 W Mg, SO S =ew, 15 Wl qeN
g fosht & fau ooy afg & e @t § 40 fohn o™ B, @ 39 W
IS H gHH H FHA fehad R sw feshl % faw smmw?

(1) 150 fepum (2) 600 fopum
(3) 6000 ferum (4) 4000 femam

e il & Afedl § @ df@e § >, < @ = 39§ @ sA-§ fuE
g @

3 6 7
R
(1 =, > 2 <,<
3 >,< 4 =,<

fr o 9 wl-= R ™ g7

(1) Trelt off & aa I R OHSA I BAT B

2) Tret ot fowm wE #I foww e ¥ O R W IW §9 g et
2l

(3) TF X Ok = 0 B A A A Ok A B

(4) et oft o1 Tt & SHE WM W O 3 84 W HGA 5 IHE
WH W 8 IE b TE W

TF & gd T
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33.

34.

3S.

36.

37.

Roshni needed 1 hr. 30 min. to travel from Nagpur to Wardha. She took rest for
15 min. She completed Wardha to Yavatmal distance journey in 1 hr. 50 min.
If Roshni had started from Nagpur at 10 in the morning then at what time
will she reach Yavatmal?

(1) 20 min. past 1 (2) 35 min. past 3
(3) 35 min. past 1 (4) 35 min. past 12

The labour charge to paint a rectangular wall at the rate of Rs. 45 per sq.m.
is Rs. 2700. If the length of the wall is 15 m, what must be the breadth of
the wall?

(1) 3 m (2) 180 m

(3) 60 m (4) 4 m

12 kg + 1350 gm = How much?
(1) 1362 kg (2) 1362 gm
(3) 13.350 kg (4) 13350 gm

Yogesh received Rs. 72 and 5 paisa as interest on his deposits in bank. How
will you write this in decimal form?

(1) Rs. 72.05 (2) Rs. 725

(3) Rs. 72.50 (4) Rs. 72.005

A merchant bought 300 sacks of wheat at Rs. 2500 per quintal. Due to heavy
rains, 70 sacks of grains were destroyed. He sold the remaining sacks at the
rate of Rs. 2700 per quintal. How much profit or loss did he make in this

transaction?
(1) Rs. 60000 profit (2) Rs. 129000 loss
(3) Rs. 175000 loss (4) Rs. 46000 profit

SPACE FOR ROUGH WORK
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33.

34.

3S.

36.

37.

ot I AR F Fuf 3@ oA & faw 1 "er 30 fme @ 15 fie smm
Heh I8 IUl H FgaHa Fg AE 1 "er S0 fme ® gt A afg Twe
gag 10 a5 AR ¥ kel grfl, @ 98 Feamie @l FRAd Sl ggenfi?

(1) 1 sw=t 20 1 (2) 3 sw=t 35 1
(3) 1 sw= 35 M (4) 12 s 35

T AR R & W ok fau 45 ' owfa o e @w @ 2700
T Ao ot Bl Afy fegm B @erE 15 dew w0f, @ 3\ fEm #
e fhafl Hier e

(1) 3 #Hi&X (2) 180 HieX

(3) 60 Hrex 4) 4 Hx

12 TR + 1350 o = feRaan?

(1) 1362 T (2) 1362 um
(3) 13.350 femm (4) 13.350 um

I H b ok [hoE fEuifee W Tgc) & U 9@ oW e @ s
& A cyHad H hd for@m?

(1) 72.05 &1 (2) 72.5 ¥
(3) 72.50 ¥ (4) 72.005 &9

fpdl wh = 4 2500 Wid fadedt % @ € U H 300 a0 @S o
g% ¥ 3I@H ¥ 70 9 W @U™ gAY NG A A 3@ 2700 ¥
gid f#ded % g & o=, A1 IW W AR H AW AT A B ToRaAI?

(1) 60000 9= T N (2) 1,29,000 ®9=i @ 7
(3) 175000 ®w=N = B (4) 46000 ®9A HT TN
TF & gd T
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38.

39.

40.

41.

42.

For flood victims at Kolhapur, 5 social organisations contributed Rs. 12870,
Rs. 13850, Rs. 9640, Rs. 25390, Rs. 7450 respectively. How much total relief
fund was collected?

(1) Rs. 126250 (2) Rs. 222910
(3) Rs. 66750 (4) Rs. 69200

During a 3 day Drama festival, at the auditorium, out of 1250 seats, 12% seats
remained vacant on the first day, 10% seats were vacant on second day and
on third day 4% seats remained vacant. How many seats remained vacant in
total, during the three days?

(1) 150 (2) 250
(3) 325 4) 350

If 15t March is Monday, then which day will occur 5 times, in that month?
(1) Thursday (2) Wednesday
(3) Friday (4) Saturday

If the radius of a circle is % cm, then what is its diameter in cms?
(1) 3.5 cm 2) 14 cm
3) 35 m (4) 7 cm

The numbers 78312, 78135, 78351 and 78531 are arranged in descending order.
What will be the sum of the 15t number and 3™ number from the right side?

(1) 156882 (2) 156447
(3) 156843 (4) 156446

SPACE FOR ROUGH WORK
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38. WHIcEI & wI¢ (ULl o Heg & UE dAIIMEl wET 3 HAY : T 12870,
T 13850, ¥ 9640, T 25390, ¥ 7450 HI weg H, @ PA fohad wUA
1 mweg Fefl S ogg?
(1) 126250 &%= (2) 222910 &R
(3) 66750 TR (4) 69200 ®9
39. o feadlw gy WeicHa W A WWEE o 1250 9% ¥aEdn H ¥ dfed
7 12%, g A 10% qan o 7 4% #e @t @ @ a9 A o
FA ot HE @t W@i?
(1) 150 (2) 250
(3) 325 4) 350
40. 15 9 % HHAR B, 9 I Uegd § SiH-T oA Ui SR smwm?
(1) T&aIR (2) g¥an
(3) IR (4) wiHER
41. %{ﬁ@ﬁﬁﬁﬁw%ﬁﬁﬁ,?ﬁmwmﬁﬁ@m?
(1) 3.5 @ 2) 14
(3) 3.5 ) 7 @
42. 78312, 78135, 78351, 78531 T TGS Wl Ted HH ¥ TH W ITH H
TEell qum gifet ot @ fowdl wemed w1 Am fRam gmme
(1) 156882 (2) 156447
(3) 156843 (4) 156446
TF & gd T
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43.  Fifteen litres two hundred ml. — Thirteen litres five hundred and
thirty ml. = How much?
(1) Two litres six hundred and seventy ml.
(2) 1.670 ml.
(3) One litre six hundred and seventy ml.
(4) 2.670 ml.
44.  Which of the following is completely divisible by 3?
(1) 7553 (2) 1733
(3) 2352 (4) 9851
45. . . . . ) i 14
Which of the following expressions is equivalent to the fraction z=?
3 2 8 _6
O 7-7 @ 573
4 3 5.2
B 5t%F @) F+7
46. Pranav wants to buy a plot for Rs. 2417300 but he has Rs. 712300 with him.
He will have to arrange the remaining amount from bank loan. How much
amount should he borrow as loan?
(1) Rs. Seventeen lakhs five thousand
(2) Rs. Seventeen lakhs fifty thousand
(3) Rs. Seventeen lakhs
(4) Rs. Seventeen lakhs five thousand and three hundred
47. 12 hours 18 min. — 6 hrs. 45 min. = how much?
(1) 5 hrs. 73 min. (2) 5 hrs. 33 min.
(3) 5 hrs. 78 min. (4) 6 hrs. 27 min.
SPACE FOR ROUGH WORK
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43. Ugg ot @ @ fet — dw fie ww @ dm fusht = femame
(1) & ot 38 a@ Heax foeh
(2) 1.670 fueft
(3) T o B & Heax foedt
(4) 2.670 Tt
4. = @ @ F9-T Tewm w1 9 @ Faw am e S 20
(1) 7553 (2) 1733
(3) 2352 (4) 9851
45. %%ﬁq%&mwwﬁm%?
3 2 8 6
M 7-7 2 575
3) 443 4 5+
46. TG W 2417300 EIA H Wiic @REN @l fohg W 9@ 712300 R B
Y [RT BT W Ak F Hal oAl @, df 39 fhadl TR & o1 TSP
(1) @98 @@ q9iE &R
(2) "% 9@ Y9E TSR
(3) TIE G|
(4) W8 @@ diE FIR dF @l
47. 12 =2 18 1. — 6 =W 45 f4. = fehar?
(1) 5 = 73 fu. (2) 5 =@ 33 fu.
(3) 5 @ 78 fu. (4) 6 =@ 27 fu.
TF 1 g AW
0301-Hindi Set-A 17 of 32 P.T.O.



48. What is the sum of all the divisors of 90?

(1) 233

(3) 204

(2) 228

(4) 234

49. If the fractions are arranged in ascending order, what will be double of the

fraction at the second last place?

111
4738
n
1
3) 5

)
4

(O] SR}

50. Ramesh and Sudha deposited same amount at two different places. Ramesh got

interest at 8 p.c.p.a. and Sudha got interest at 7.5 p.c.p.a. If Ramesh has got

Rs. 500 more than Sudha, then find the amount that Ramesh had deposited.

(1) Rs. 100000

(3) Rs. 7500

(2) Rs. 50000

(4) Rs. 150000

51. Choose the correct option to fill in the box.

932004 — [ | = 59896

(1) 991900

(3) 857898

(2) 927892

(4) 872108

SPACE FOR ROUGH WORK
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48.

49.

50.

S1.

90 =& Tl fawrsenl =1 IHA feRaT?
(1) 233 (2) 228
(3) 204 (4) 234

fou ™ fi=l #1 wgd B W H foed W o3d W g A=l 1 g feRar 7

(1) )

o
Wt

@ 3

B[

3)

WY R a1 4 Th 99 o U guE W Aer-rem el W fhew fedifie
H A | WY R TITA 8 h @ H F A H TWMIF. 1S5 H X
T o e | 9k @ W ogam ¥ 500 'R oifve e g od@, W A
fpaft wfer & # oo feuifere i off 2

(1) 100000 (2) 50000
(3) 7500 @) 150000

o dge o e @El I w1 fasken gRw |
932004 — [ | = 59896

(1) 991900 2) 927892
(3) 857898 4) 872108
TF 1 g AW
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52. Rutuja had some amount. She distributed it among 47 students. When she
gave Rs. 50 to each student, Rs. 37 were left with her. How much amount
did she have?
(1) Rs. 2350 (2) Rs. 2387
(3) Rs. 2313 (4) Rs. 1897
53. 2 lakhs + 13 thousands + 72 hundreds + 38 tens + 13 units = ?
(1) 220593 (2) 213733813
(3) 22033813 (4) 220393
54. 2 tens + 3 units + 5 hundredth + 8 one tenth = ?
(1) 23.58 (2) 2358
(3) 238.5 (4) 23.85
55.  Select the incorrect option from the given alternatives.
I Ream = papers
(1) 20 quires (2) 40 gross
(3) 480 sheets (4) 40 dozen
56. The sum of two numbers is 39.62. If one number is 1.259 then what will be
the other number?
(1) 2.703 (2) 27.03
(3) 38.361 (4) 40.879
SPACE FOR ROUGH WORK
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52.

53.

54.

5S.

56.

M % TH PO WA offl W Ty faemeff w1 S0 ¥ s oymmor #
47 faenfd=i @t ded W, 3T 9@ 37 FW AV §Ud 7, dl Fgal b UE
Fd ot T off?

(1) 2350 ®. (2) 2387 ®.
(3) 2313 ®. 4) 1897 ®.

2 A + 13 BIR + 72 kSl + 38 T@E + 13 SRS = TRdAr?
(1) 220593 (2) 213733813
(3) 22033813 (4) 220393

) TEE + 3 THE + 5 WA + 8§ W = fehadr?
(1) 23.58 (2) 2358
(3) 2385 (4) 23.85

e 4 9 e wE g

1 | = TS
(1) 20 <& (2) 40 7H
(3) 480 (4) 40 &=

3 WAl w1 WS 39.62 Bl ARG WH WA 1.259 BAM, @ gEA wed
EDEEiN

(1) 2.703 (2) 27.03
(3) 38361 (4) 40.879
TF & gd T
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57.

58.

59.

60.

What will be the simple interest on the principal of Rs. 5000 at 7 p.c.p.a in

3 years?
(1) Rs. 10500 (2) Rs. 105
(3) Rs. 1500 (4) Rs. 1050

Neha walks daily to complete 5 rounds along a triangular ground whose every
side is 100m. Then, How much distance does she cover walking around the
ground in one week?

(1) 12 km

(2) 3 km 500 m
(3) 14 km 500 m
(4) 10 km 500 m

Select the correct option from the following expressions.
(1) 24 - 12 +3 x5 =27
2) 18 -10+3 x2=2
3) 15 x12 -2+ 4=176
(4) 18 +30 +3 x 2 =32

Which of the following angles has measured less than }7 times of 360°?
(1) Right angle (2) Obtuse angle
(3) Acute angle (4) Reflex angle

SPACE FOR ROUGH WORK
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57. 7 ¥ YAAG H @ H S000 ®HE b HAGd W 3 FY K AW fohadl
g ?
(1) 10500 &9 (2) 105 &9
(3) 1500 &9 (4) 1050 &
58. 100 e yom st Fyysepfd #gm w1 @ wfafer 5 weR Ged weeRt @
3, @ & U # 98 fhadr IR T@e QU w87
(1) 12 Tt
(2) 3 Tt 500 ez
(3) 14 feft 500 ez
(4) 10 feft 500 X
59. fm= @ @ wH-m w@E @@ 37 W g
(1) 24— 12+3 x5=27
2) 18 -10+3x2=2
(3) 15 x 12 -2+ 4 =176
(4) 18 +30 + 3 x 2 = 32
60. fr ¥ ¥ FE-F FO F AM 360° F o TN H FA FA 27
(1) TmhI (2) 3fers Wi
(3) Tl (4) gAfTS HIT
T T T T
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61. There are 1600 students in a school. What will be the number of boys in the

school, if there are 48% girls?
(1) 768
(3) 52

(2) 832
4) 640

62. Joseph bought 2 pens at the rate of Rs. 12 and 50 paisa and 5 pencils at the

rate of Rs. 5 and 25 paisa. How

much amount did he spend on his purchase?

1) Rs. 17.75 2) Rs. 51.25
(1)
(3) Rs. 35.25 (4) Rs. 37.25
63.
+ + = How much?
127 7
(C) 2) iz
127 1
3 i 4 5

64. Double of the common factors of two co-prime numbers is

(1) Smaller of the two co-prime numbers.

(2) Greater of the two co-prime numbers.

3 1
4) 2

SPACE FOR ROUGH WORK
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61.

62.

63.

64.

et s fammem # Fa fqaneff @@ 1600 31 afe foamem & 48% wiefwat

g, @ 39 foue™m o @gdl i ' fehadi?

(1) 768 (2) 832
(3) 52 (4) 640

SR 12 T 50 W A W H A YT MW 5 FW 25 WY H X ¥ U
e @i, @ TEwd Fa fhad s hi @hd fi?

(1) 17.75 €& (2) 5125 &9
(3) 3525 &9 (4) 3725 &9
+ + = fopaaT?
) o @ 15
3 7 @ 3
q TE-AAST HEIST %k W @Sl B G ... gl B

(1) 2 @8 Jwsy gemsl § 4 o1 9|
2) Q1 W IFWsT wemel # ¥ ¥d Hedn|
3) 1
4 2

TF & gd T
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Instruction for Question No. 65 and 66.
Solve the questions referring to the pictorial diagram given.
Scale : (1 @ = 20 trees)

Participating schools in tree plantation No. of trees planted

Dnyanda Vidyalaya @ @ @ @ @
%

® @
%

65. How many more trees did Dnyanada Vidyalaya plant than Sadhana Vidyalaya?
(H 1 2) 9
3) 20 4) 50

Vidya Niketan School

Z. P. Primary School

Sadhana Vidyalaya @

Adarsh Vidyalaya

%3OS

66. How many trees were planted in all, by the participating schools during the
tree plantation programme?

(1) 17 (2) 340
(3) 20 4) 170

67. Eight thousand seven hundred and twelve + Twelve thousand seven hundred
and fifty = How much?

(1) 21462 (2) 22462
(3) 20962 4) 21962

SPACE FOR ROUGH WORK
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T . 65 AT WT H. 66 % ToTw gEAT -
fafafgd foeee SHdl & smurR W I foEn

(s 1 @ = 20 34)

A e O
NMuwy. foemem @@

e frre P @ ¢
Tt fer » @ @

65. @u faore™m & e fauem 4 fhdd 3@ ilve @me?
1 1 2) 9
(3) 20 @) 50

66. JUNTA HEHA o IAdd Hgwrl fqae™i+A Fa fhad g@ @me?
(1 17 (2) 340
(3) 20 4) 170

67. 376 TIX 9d & dNE + U4 d& TR = fhan?

(1) 21462 2) 22462
(3) 20962 4) 21962
TF & gd T
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68.

69.

70.

71.

Soham exchanged 6 notes of Rs. 2000 with equal number of notes of Rs. 100
and Rs. 50. How many notes of Rs. 100 will he get?

(1) 120 (2) 40
(3) 80 4) 160

Using the digits 3, 2, 5, 0, 8 atleast once, a smallest 6 digit odd number is
formed. What will be the product of the digits at one’s and hundred’s place?

(1) 24 (2) 40
(3) 15 4) 16

Nisha sold an article at Rs. 1730 which she had purchased at Rs. 1350. How
much profit or loss did she make?

(1) Rs. 420 profit (2) Rs. 380 loss
(3) Rs. 420 loss (4) Rs. 380 profit

A cube is formed by folding the adjoining figure.
Which digit will not appear on the cube, to the
adjacent side of 4?

(1) 16
2) 36
3) 25
4 9

36 | 16

25

SPACE FOR ROUGH WORK

0301-Hindi Set-A 28 of 32 Contd...



68.

69.

70.

71.

qigd 9 2000 ®9A ok 6 Al ded 100 TG qAT 50 ®YA ok HHM AlE
o, a 100 ®9=i & foha e oo ?

(1) 120 (2) 40

(3) 80 4) 160

3, 2, 5,0, 8 3T 3Rl ol HH T HH UTh TR YA Hleh D8 Iehldra]
DA T B oo TEnm dUR HH W THE AT ThS b TAM b 3 hl
TUHRA  TohdT ?

(1) 24 (2) 40

(3) 15 4) 16

fem 9 1350 s W @i g Tk 9% 1730 €@ § A<l 3 FEEK H
3G fopal AW AT B BS?

(1) 420 &9 &1 oY (2) 380 ®UA HI B

(3) 420 ®9Fi HI B (4) 380 ®YAT H AN

T T i HISH o oM W 4 Ig Ihdld T8
G Y53 W hH-H 3k @l WM ?

(1) 16
2) 36

36 | 16

3) 25 25

“4) 9

TF & gd T
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72.

73.

74.

75S.

Which of the following statements is FALSE, with respect to triangular numbers
and square numbers.

(1) Half the product of 2 consecutive numbers gives a triangular number.
(2) 1 is triangular as well as square number.

(3) When a number is multiplied by the number itself, the result is a square
number.

(4) The product of two consecutive numbers is a triangular number.

What will be the 5 number, from left side when the 2 digit numbers divisible
by 12 are arranged in descending order?

(1) 60 2) 12
(3) 48 4) 36

Out of 12 km 300 m distance, Afroz covered 9 km 500 m distance on bicycle.
She covered the remaining distance running. How much distance, did she cover

running?
(1) 2.8 km (2) 2.800 m
(3) 3.200 m (4) 21.800 km

For a trip in the month of May, Swara booked air tickets in advance for
Rs. 5780. Due to some reason, she had to cancel the ticket. She got an amount
back with the deduction of 30%. How much loss did she suffer?

(1) Rs. 1734 (2) Rs. 1534
(3) Rs. 1724 (4) Rs. 1504

SPACE FOR ROUGH WORK
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72.

73.

74.

75.

s qen affe wemsti & @y § f=fafed & @ ®H-81 %204 To@ 87
(1) T Shiteh : TEAST & TUF%A 1 3Ten fobam a1 Biph e e R
2) 1 I8 Bt da ot =@ R

(3) feu ™ T # 3 T ¥ n W e aeht gen ot g@en
gl 2l

(4) T Hibh TS B PHARA HHE W ONEE e fied R

12 9 oy @ Thehl TS W Ted A § A W o@ AR F giEe!
&I hiHA-H1?

(1) 60 Q) 12
(3) 48 4) 36

IHUS F 12 fRrft 300 et o/ ® | 9 fepdt 500 e i@ wiEfhd ¥ AR
Fam o TR IEY wmEeR UR TR, @t 3Ed TR STaR WEeR 4R feRAn?

(1) 2.8 T (2) 2.800 X
(3) 3.200 T (4) 21.800 ferdt

T W5 Al H W W I U g1 9 foooll @R S i onfim foehe
5780 ®Ii H Tkl fohg $® @rur & I\ ar fewe we T, 3@ 30%
T Hie w AW AR fefl, @ T@ & A B gS Y

(1) 1734 & (2) 1534 T
3) 1724 &1 4) 1504 &R
TF & gd T
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